
25

K. 糸切り関係 / Thread trimmer mechanism
REF.NO CODE Q'TY 品名 NAME OF PARTS RM

1 SB4954101 1 イトサバキ LOWER THREAD FINGER
2 026040236 1 ヒラザガネミガキ4 WASHER PLAIN M 4
3 062400616 1 ナベコ4X6 SCREW PAN M4X6

4 SB4941001 1 ウワメス UPPER KNIFE
5 SB4943001 1 シメネジ4.37 FLAT SCREW 4.37
6 148537101 1 サラネジ4.37 SCREW, FLAT (W/SOCKET) SM4.37
7 SB4950201 1 ウワメスホルダ UPPER KNIFE HOLDER
8 SB4949101 1 ウワメスレンカン UPPER KNIFE CONNECTING ROD
9 SB4948101 1 ウワメスレバー UPPER KNIFE LEVER
10 018501036 1 アナボルト5X10 BOLT SOCKET M5X10
11 SB4942101 1 シタメス LOWER KNIFE
12 148537101 2 サラネジ4.37 SCREW, FLAT (W/SOCKET) SM4.37
13 SB4952101 1 シタメスホルダ LOWER KNIFE HOLDER
14 SB4969001 1 スペーサ SPACER
15 SB4951201 1 シタメスレンカン LOWER KNIFE CONNECTING ROD
16 060401016 4 バインド4X10 SCREW BIND M4X10
17 SA5329001 4 カラ- COLLAR
18 100645003 4 ザガネ WASHER
19 021400306 4 3シュナット4 NUT 3 M4
20 SB4957001 1 フタマタジクモドシバネP THREAD TRIMMER LEVER SPRING P
21 SB4944001 1 イトキリカムB THREAD TRIMMER CAM B

27 SB5631101 1 イトキリレバークミ THREAD TRIMMER LEVER ASSY
28 SA7285101 1 レバ-ストツパ LEVER STOPPER
29 018501436 1 アナボルト5X14 BOLT SOCKET M5X14
30 SA7287001 1 イトキリホルダオサエイタ KNIFE HOLDER PRESSER PLATE
31 004301016 3 +サラコ3X10 SCREW FLAT M3X10
32 SB4955001 1 フタマタジク FORKED SHAFT
33 SB4956101 1 フタマタジクメタル FORKED SHAFT BUSH
34 SB4968001 1 トメワE12 RETAINING RING_E12
35 SB5301001 1 イトキリカムレバーソウクミ THREAD TRIMMER LEVER UNIT
36 105234003 1 ナツト4.37 NUT SM4.37
37 S23651001 1 アナヒラ6X6ホソメ SET SCREW SOCKET (FT) M6X6
38 SB4960001 1 カムレバージク THREAD TRIMMER CAM LEVER SHAFT
39 S25434000 2 クツシヨンゴム RUBBER CUSHION
40 SB4962001 1 カラー COLLAR
41 SB4961001 1 カムレバーモドシバネ SPRING EXTENSION
42 154567000 2 カンザ5.3 SPACER 5.3
43 014771032 2 アナクボミ635-40X10 SET SCREW SOCKET SM6.35-40X10
44 SB5310101 1 イトキリソレノイドクミ THREAD TRIMMER SOLENOID ASSY
45 SB4964001 1 イトキリソレノイドダイ THREAD TRIMMER SOLENOID BASE
46 SB5257001 1 イトキリソレノイド THREAD TRIMMER SOLENOID
47 062400816 4 ナベコ4X8 SCREW PAN M4X8
48 140647121 1 コ-ドオサエ CORD HOLDER
49 062400816 1 ナベコ4X8 SCREW PAN M4X8
50 SA9716001 1 レンケツピン PIN

S-7300A-403

25

S-7300A-403

K.                    / Thread trimmer mechanism

18
16

1 31

20

38

39
40

32
3433

2
3

30
16 18 13 14

16 18
7

817
19

19
10

9

17

1919
27

17 15

1816
17

37

35

39

36
42
43

42

48
49

46

52
51

64

65
67

66

59

59

57

58

63

47

5
6

4

54
55

50 5653

43

41

45

21

60

63

12

29

28

44

11

61 62



26

K. 糸切り関係 / Thread trimmer mechanism
REF.NO CODE Q'TY 品名 NAME OF PARTS RM

1 SB4954101 1 イトサバキ LOWER THREAD FINGER
2 026040236 1 ヒラザガネミガキ4 WASHER PLAIN M 4
3 062400616 1 ナベコ4X6 SCREW PAN M4X6

4 SB4941001 1 ウワメス UPPER KNIFE
5 SB4943001 1 シメネジ4.37 FLAT SCREW 4.37
6 148537101 1 サラネジ4.37 SCREW, FLAT (W/SOCKET) SM4.37
7 SB4950201 1 ウワメスホルダ UPPER KNIFE HOLDER
8 SB4949101 1 ウワメスレンカン UPPER KNIFE CONNECTING ROD
9 SB4948101 1 ウワメスレバー UPPER KNIFE LEVER
10 018501036 1 アナボルト5X10 BOLT SOCKET M5X10
11 SB4942101 1 シタメス LOWER KNIFE
12 148537101 2 サラネジ4.37 SCREW, FLAT (W/SOCKET) SM4.37
13 SB4952101 1 シタメスホルダ LOWER KNIFE HOLDER
14 SB4969001 1 スペーサ SPACER
15 SB4951201 1 シタメスレンカン LOWER KNIFE CONNECTING ROD
16 060401016 4 バインド4X10 SCREW BIND M4X10
17 SA5329001 4 カラ- COLLAR
18 100645003 4 ザガネ WASHER
19 021400306 4 3シュナット4 NUT 3 M4
20 SB4957001 1 フタマタジクモドシバネP THREAD TRIMMER LEVER SPRING P
21 SB4944001 1 イトキリカムB THREAD TRIMMER CAM B

27 SB5631101 1 イトキリレバークミ THREAD TRIMMER LEVER ASSY
28 SA7285101 1 レバ-ストツパ LEVER STOPPER
29 018501436 1 アナボルト5X14 BOLT SOCKET M5X14
30 SA7287001 1 イトキリホルダオサエイタ KNIFE HOLDER PRESSER PLATE
31 004301016 3 +サラコ3X10 SCREW FLAT M3X10
32 SB4955001 1 フタマタジク FORKED SHAFT
33 SB4956101 1 フタマタジクメタル FORKED SHAFT BUSH
34 SB4968001 1 トメワE12 RETAINING RING_E12
35 SB5301001 1 イトキリカムレバーソウクミ THREAD TRIMMER LEVER UNIT
36 105234003 1 ナツト4.37 NUT SM4.37
37 S23651001 1 アナヒラ6X6ホソメ SET SCREW SOCKET (FT) M6X6
38 SB4960001 1 カムレバージク THREAD TRIMMER CAM LEVER SHAFT
39 S25434000 2 クツシヨンゴム RUBBER CUSHION
40 SB4962001 1 カラー COLLAR
41 SB4961001 1 カムレバーモドシバネ SPRING EXTENSION
42 154567000 2 カンザ5.3 SPACER 5.3
43 014771032 2 アナクボミ635-40X10 SET SCREW SOCKET SM6.35-40X10
44 SB5310101 1 イトキリソレノイドクミ THREAD TRIMMER SOLENOID ASSY
45 SB4964001 1 イトキリソレノイドダイ THREAD TRIMMER SOLENOID BASE
46 SB5257001 1 イトキリソレノイド THREAD TRIMMER SOLENOID
47 062400816 4 ナベコ4X8 SCREW PAN M4X8
48 140647121 1 コ-ドオサエ CORD HOLDER
49 062400816 1 ナベコ4X8 SCREW PAN M4X8
50 SA9716001 1 レンケツピン PIN

S-7300A-403


